EARAROBREBRT —5 XN—ZXBISH—F

2024511898 (+) 3EHES3H

LRSS 3BISR USHR3IEE (BE) (58 T2 BRI
[AE%) 1 & :18,400,000 @ 2 3#&:7,400,000 3 3&:4,600,000 9 4 3% :2,800,000 5 & :1,840,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= A= : -12-9- BE—% (FR)
1lglis| 7477 =714~ B4 B 1.(4_5).5 11-12-9-9 |36.9 | 103.0 | 4 zzg? Be
RFPATr—Yvd B:EIvhk BRAH F—RT7—L4
S e . AEXF : -4-5- AlERE— (EXR)
2Ky 5| Y RTIL—E— "4 RS 1(,‘\‘3-)5 A 2180 1 ffg; A
RiNA40O B:TyRESTRE=— BE #HE
N st 5 | AVRALC 1:45.6 3-3-3-2 |37.5[102.0| 2 56 | ARE—R (FHR)
3/5/8 XA 3aoRkvY L 56.0 (3/4) () |HoAsFRE
R:FARAITU—rFvy N B:XAY3DST—F IREBUS
=— b 5 | IREME 1:45.8 11-10-13-13| 37.0 | 100.2 | 9 494 | MAKERR (FER)
4 4| Z=HA £ 56.0 a 1/4) “18) A(;sk) J—ZER
R:5=Z ®:AVvFUH—9— #Rat /—ReLX
to4 | LTS 1:45.9 8-10-5-4 [37.6| 99.3 | 5 | 466 |DPEEE= (GEH)
;W1 P/ /ITAR 56.0 (3/4) ) |EHEE
RIIARIT=IWIF— B:IvIT7A9— e
S = o6 | MAKE 1:45.9  [13-13-13-13|37.0| 99.3 | 7 | 500 |MFRL FEH)
6 )| EFTST 47 58.0 FI) o) | @ FrOvhIr—Li
Ri—=5—yvF B:AZANT—)L (/) #HB8I1-RL—yavEEI 7
= A L 5 | SiZERE 1:46.0 1-1-1-1 [38.0| 96.5 | 14 | 436 |HE@fE— RN)
7159 | 73 AU — [B] * 56.0 (/2) (g | @) O—Rf—2757
R:O0—RAF0O7 7 RIAPIrA TATFAT7—L
= 33~ =Y # 4 | EDEN 1:46.1 8-7-9-9 |37.5| 97.4 | 10 | 432 |BEE (RFN)
Y 2 FIEECEZEATS 560 /) ) | BRI
R:FIINS—R BR—FRAFvUR B EEEG R ABET NS
= B4 | FIREER 1:46.2 5-7-5-7 |37.8| 96.2 | 3 | 502 |MEELE/I\ EH)
98|14 @AFS1T 5.0 am Ly |HeBx
RPIFPITATVRA B:yaxvs— EIN: e
= s 5 | ISERER 1:46.5 8-7-9-9 [37.9| 93.6 | 12 | 466 |AFIERL (5EH)
10fF 10| @LAT 1 X—k 58.0 (172 @a) | B SLITF—h
RFUBLRAIVE BiAYT1I9F =E &1
3 “ — # 3 | BEED 1:46.6 5-4-5-7 |38.2| 91.4 | 8 490 | ©LLBEHE ()
M1l 1=y b+ 56.0 (172 ) BRA#ILD
R:RLVT#Y B:F—TY—TLwh =3I r—1L
v RST3 5 | MR 1:46.9 2-2-2-2 38.9] 89.0 | 13 | 472 |EEES (W)
120713/ by RS<r2a [B] # 58.0 ' 3/4) G0 | mEA 2Ly v
R:O0—KAH7FO07 B:LyRYTU—)L e
13 7| F47vFUZEY [B] i o6 g%s?laik 1(74?:)9 15-14-15-15| 37.8 | 90.3 | 11 (4_325) %xgi €3]
RiUFAVF4—R B:T4T7vITL—7 [=lEe]
< S o~ ke 3 Lz : -14-12- 2 Fsh (3E)
14 6| HY I TLUR € 8| Ml 1.(427).2 13-14-12-12| 38.5 | 86.1 | 15 (4+722) i
RiFvITVRs—L BirEhIFIA¥ Hyo—ey
0 ~ 4t 3 | SHEA 1:47.5 3-4-3-4 |39.3] 84.2 | 6 | 462 |EWAE )
15{7|12| VIV T hTL—Y 54.0 (1172 o |2PEs
RiW—5—YvF B:=ZRAI7/T1vT FRSY
[ BN
En'y 50.2-37.5
NaOvg4L | 7.0-11.2-11.8-12.4-12.9-12.7-12.5-12.6-12.4
@ 11— —BBIEIL
10—7+— (*9,13) (8,12) (1,5,14) (3,10,11) (4,15)-(2,6)7
20—F— (x9,13)8(1,5,12) (3,10,14) (4,11)15,2(7,6)
Ja=zr= (x9,13) (8,12) (1,5,14,11) (3,10,15)6(2,4)7
40—F— 9(13,8) (5,12,11) (1,14) (3,10,15)6(2,4)7
o ILRE
BB 15 6804 JA R 5-15 5804 & 3-8 6804 3EE 5-8-15 5,680
B B 15 200 8-15 1,560 5 & 515 1,620 3Es 15-5-8 40,420M
5 170/ 5-8 620 oS- 15-5 3,320
8 190

ABIC OV TRUTEREERRODDZE. THRIIZEL.




